# Age at Diagnosis and Diabetes Free Life Expectancy by Gender in Kerala: Evidence from LASI

Anjana A Bindu P Asha T Chacko

## Abstract

Kerala known as diabetes capital of India. This study attempts to determine the prevalence and age at diagnosis of diabetes and diabetes free life expectancy in Kerala based on the data from the wave 1 of the Longitudinal Ageing Study in India conducted during 2017-18. The life table was constructed based on data from the Sample Registration System (SRS) matching the survey period. Sullivan method was applied to estimate diabetes-free life expectancy in the context of the study. The self-reported prevalence of diabetes in Kerala the highest among states and Union Territories of the country. The study reveals gender differentials in the age at the diagnosis of diabetes. The study reveals that a substantial proportion of older individuals spend a significant amount of their lives with diabetes. For the next decades, the impact of diabetes on healthy life expectancy is likely to rise unless preventive measures are taken.

## Introduction

Kerala has entered an advanced stage of demographic and epidemiological transition which marks significant evolution of the population dynamics and disease pattern in the state. An implication of this transition is the aging of the population, increase in the prevalence of non-communicable diseases, and rising morbidity rates. The rapid increase in the proportion of the old age population in the state has emerged as a prominent concern from the public health perspective. The rapid increase in the old population of the state has resulted in marked changes in the disease profile and causes of death pattern with a marked increase in the prevalence of non-communicable diseases (NCDs). For example, a study carried out by the Indian Council of Medical Research estimated in the year 2011 that around 24 per cent population of the state had diabetes and this proportion is one of the highest in the country (Anjana et al, 2011). The latest round of the National Family Health Survey, 2019-2021 estimates that around 25 per cent of women aged 15 years and above and around 27 per cent of men aged 15 years and above in the state were diabetic - having a random blood glucose level of more than 140 mg/dl or were taking medicines to control blood glucose level at the time of the survey (Government of India, 2020a). The survey has

also revealed that this proportion varies widely across the districts of the state. The prevalence of diabetes in males has been found to be the highest in district Thiruvananthapuram but the lowest in district Kasaragod whereas the prevalence of diabetes in females has been found to be the highest in Pathanamthitta but the lowest in district Kasaragod. There is no district in the state where the proportion of men or women aged at least 15 years who were diabetic at the time of the survey was less than 20 per cent (Government of India, 2020b).

Diabetes is a metabolic condition that is marked by elevated blood glucose level. The elevated blood glucose level damages vital and other organs in the human body, potentially leading to increased mortality and other health problems (WHO, 2016). Diabetes affects people all over the world. In most of the high-income countries, it is either the fourth or the fifth leading cause of death, and there is strong evidence that it has become an epidemic in the newly developed and economically developing countries. According to the World Health Organization, the number of people living with diabetes increased from 200 million in 1990 to 830 million in 2022 and the prevalence of the disease is rising more rapidly in low- and middle-income countries than in high-income countries. In 2021, diabetes was the direct cause of 1.6 million deaths and 47 per cent of all deaths due to diabetes occurred before the age of 70 years. Another 530 000 kidney disease deaths were caused by diabetes, and high blood glucose caused around 11 per cent of cardiovascular deaths (Global Burden of Disease Collaborative Network, 2024).

Diabetes is acknowledged as a significant contributor to premature mortality and disability. Studies show that the life expectancy in population with diabetes is lower than the life expectancy in population without diabetes and the difference increases with age (Sikdar, 2010; Bardenheier, 2016). Moreover, studies also highlight an increase in the duration of morbidity associated with the disease (Muschik, 2017). Diabetes has a negative impact on the quality of life of an individual also. It places significant financial burden on the individual, the family, and the society.

There are studies in India which have analysed the impact of diabetes on life expectancy in India and in other countries (Andrade, 2009; Sharma et al, 2024; Luhar et al, 2021; Emerging Risk Factors Collaboration, 2023; Alam and Sheoti, 2024; Khyati et al, 2021). A study based on a survey carried out in 2004 in Kerala had estimated that diabetes-free life expectancy of males and females were 67.8 and 74.1 years, respectively (Krishnakumar et al, 2025). This study has also found statistically significant differences between males and females in the diabetes-free life expectancy in all ages except 85 years and over. Another finding of the study is that males and females of the state lived with diabetes, on average, 3.6 years, and 4.3 years, respectively their lifetime.

This paper has two objectives. The first is to estimate the prevalence of selfreported diabetes and age of diagnosis of diabetes in population aged at least 45 years in the state while the second objective is to estimate the diabetes free life expectancy. The comparison between the overall life expectancy and the diabetes free life expectancy sheds light on the specific impact of diabetes on longevity and quality of life in Kerala. The analysis has been carried out separately for males and females to highlight, if any, the differential impact of diabetes on the lifespan of men and women.

## **Data and Methods**

The study is based on the data available from the first wave of the Longitudinal Ageing Study in India (LASI) which was conducted in 2017-2018 (Government of India, 2020c). LASI is a nationally representative household survey that covers all states and Union Territories of India with the objective of investigating health, economic, and social determinants and consequences of population ageing in India. Households with at least one member aged 45 and above are taken as the eventual observation unit in LASI. The Indian Council of Medical Research (ICMR) provided the essential guidance and approval for data collection. Written informed consent was obtained from each household and every eligible individual. The data available from LASI provide valuable insights into the prevalence and burden of chronic diseases in India. At the national level, the first wave of LASI covered a sample of 72,250 individuals aged 45 years and above and their spouses, irrespective of the age of the spouse. In Kerala, 2497 individuals aged 45 years were covered under the first wave of LASI. During the survey, all respondents were asked "Has any health professional ever diagnosed you with diabetes or high blood sugar." The response to the question was coded either "Yes" or "No" and all respondents whose response was "Yes" to the question were classified as having diabetes. The blood glucose level of the respondents was also measured during the survey. However, the present study is based on the response given by the respondents only. The prevalence of diabetes presented here, therefore, is the selfreported prevalence of diabetes. Moreover, the age when diabetes was first diagnosed was also asked from those respondents who reported to have been diagnosed for diabetes.

The Sullivan Method has been used to estimate the diabetes free life expectancy (DFLE) and diabetes life expectancy (DLE) (Sullivan, 1971). This method is the most widely used method to estimate population health indicators (Sullivan, 1971). The method involves dividing the person-years lived in an age interval into two mutually exclusive groups – one having diabetes and the other not having diabetes. The person-years lived in an age interval is obtained from the prevailing age-specific mortality rates by constructing the life table and the person-years lived in the age interval having diabetes is assumed to be proportional to the prevalence of diabetes in the age interval. Construction of the life table for the total population (diabetic and non-diabetic) is necessary for the application of the Sullivan method. The life expectancy of the total population is the sum of the life expectancy of the standard life table notations, the life expectancy at age *x* in a population is given by

$$LE_x = \frac{1}{l_x} \sum_x L_x \tag{1}$$

and

$$DLE_x = \frac{1}{l_x} \sum_x p_x L_x \tag{2}$$

$$DFLE_x = \frac{1}{l_x} \sum_x (1 - p_x) L_x \tag{3}$$

The life tables for Kerala are constructed from the age-specific death rates available from the sample registration system for the year 2018 (Government of India, 2020d).

Table 1 gives the reported prevalence of diabetes in the population aged 45 years and above in the state. Among the 2497 persons aged 45 years and above covered during the first wave of LASI, 686 persons reported that they had diabetes which gives a prevalence rate of 27.5 per cent. The reported prevalence of diabetes is estimated to be 30.5 per cent for males but 25.5 per cent for females. The reported prevalence of diabetes increases with age and is found to be relatively higher in the urban areas as compared to the rural areas of the state. The level of education of the individual has not been found to be associated with the reported prevalence of diabetes as it is found to be the highest in respondents having up to primary education only. However, the reported prevalence is found to be the highest in respondents with the richest standard of living but the lowest in respondents with the poorest standard of living. The reported prevalence of diabetes has been found to be the lowest in respondents of Hindu religion but the highest in respondents of other religion – neither Hindu nor Muslim. Similarly, the reported prevalence of diabetes is found to be lowest in Scheduled Tribes respondents but the highest in respondents of social classes other than Scheduled Tribes, Scheduled Castes, and Other Backward Classes. In general, reported prevalence of diabetes in found to be lower in females than in males but. in the Scheduled Tribes population, the reported prevalence of diabetes is found to be higher in females than in males. Similarly, the reported prevalence of diabetes is found to be higher in females than in males in population with no education and in population with the poorest standard of living. The male-female difference in the reported prevalence of diabetes varies by the background characteristics of the population.

## Age at Diagnosis of Diabetes

Table 2 presents distribution of the age at diagnosis of diabetes in Kerala along with the distribution of the age at diagnosis of diabetes in India for the total population and for males and females separately based on the data available from LASI. In India, the median age at diagnosis of diabetes was 51 years for both males and females and, therefore, in the total population. In Kerala, however, the median age at diagnosis of diabetes was 53 years for males but 50 years for females. For the male and female combined population, the median age at diagnosis of diabetes was 50 years which is very close to that in India. The median age at diagnosis of diabetes in males was higher in Kerala compared to India but the median age at diagnosis in females was lower in Kerala than that in India. There is, however, big difference between India and Kerala in terms of both youngest age at diagnosis of diabetes was 6 years for both males and females compared to 26 years for both males and females in Kerala. On the other hand, the oldest age at diagnosis of diabetes was 83 years for males and 85 years for females but 77 years and 71 years respectively in Kerala.

The age at diagnosis of diabetes in Kerala has also been found to vary by the background characteristics of the respondents such as gender, place of residence, religion, social group, and the standard of living (Table 3). The median age at the diagnosis of diabetes has been found to be higher in rural respondents as compared to urban respondents. On the other hand, the median age at diagnosis has been found to be comparatively the highest in Muslim respondents but the lowest in Hindu respondents.

Among different social classes, the age at diagnosis has been found to be the highest in Scheduled Tribes respondents but the lowest in respondents belonging to Other Backward Classes. Finally, the age at diagnosis of diabetes has been found to be the lowest in respondents with the poorest and the richest standard of living as measured through the mean per capita consumption expenditure (MPCE). Among respondents with average and richer standard of living, the median age at diagnosis of diabetes has been found to be around 3 years higher than the median age at diagnosis among respondents with either the poorest or the richest standard of living index, Table 3 also shows that both minimum and maximum age at diagnosis of diabetes have also been found to vary widely across the background characteristics of the respondents. For example, although the median age at diagnosis of diabetes is found to be the same in respondents with the lowest and the highest standard of living, yet the minimum age at diagnosis was found to be substantially lower in respondents with the richest standard of living than that in respondents with the poorest standard of living. On the other hand, the maximum age at the diagnosis has been found to be the lowest in respondents with above average – richer and richest – standard of living, it was the lowest in respondents with middle standard of living.

Background cha	Reported	Reported prevalence of diabetes				
			(per cent)			
		Male	Female	Person		
Age	45-59	23.1	18.5	20.1		
	60-74	35.2	34.7	35.0		
	75+	42.2	33.5	37.3		
Residence	Urban	34.2	26.2	29.3		
	Rural	27.3	25.1	26.0		
Education	No education	20.9	28.6	26.4		
	Up to Primary	28.9	28.9	28.9		
	Middle/Secondary	31.3	24.7	27.4		
	Higher Secondary & above	37.2	18.5	26.0		
Religion	Hindu	28.2	22.3	24.6		
	Muslim	31.6	28.8	29.9		
	Christian	36.4	32.4	34.1		
Caste	General	31.9	29.1	30.3		
	SC	18.8	17.6	18.1		
	ST	15.8	23.8	20.0		
	OBC	31.9	24.5	27.4		
Wealth	Poorest	21.3	25.7	24		
	Poorer	29.2	23.7	25.8		
	Middle	34.6	23.2	27.7		
	Richer	29.7	25.9	27.4		
	Richest	34.6	28.9	31.3		
All		30.5	25.5	27.5		
Ν		991	1506	2497		

Table 1: Reported prevalence of diabetes in population aged 45 years and above in Kerala as revealed through LASI.

Source: Authors' calculations

#### Table 2: Age at diagnosis of diabetes (years) by gender in India and Kerala Minimum Median Q3 Maximum IQR Q1 India Total Male Female Kerala Total Male Female

#### ANJANA ET AL; IJPD 4(2): 201-215

Source: Authors' calculations

Table 3: Age at diagnosis of diabetes by selected demographic and social and economic characteristics of persons at least 45 years of age who self-reported that they have been diagnosed with diabetes.

Characteristics	Minimum	Q1	Median	Q3	Maximum	IQR
Age (years)						
45-59	26	36	42	43	47	7
60+	32	51	55	60	77	9
Sex						
Male	26	48	53	58	77	10
Female	26	45	50	58	71	13
Residence						
Rural	26	47	55	60	77	13
Urban	26	42	50	55	72	13
Religion						
Hindu	26	45	50	56	77	11
Christian	33	47	52	56	66	9
Muslim	32	44	54	60	72	16
Social Group						
Scheduled Tribes	26	44	55	67	77	23
Other Backward Classes	26	45	50	56	72	11
Others	30	45	52	59	71	14
Standard of living						
Poorest	32	48	50	55	72	7
Poorer	30	45	51	57	71	12
Middle	33	43	53	63	77	20
Richer	31	46	53	59	67	13
Richest	26	44	50	56	67	12

Source: Authors' calculations.

Remarks: The standard of living of the individuals has been classified into five mutually exclusive yet exhaustive categories based on the average monthly consumption expenditure at current prices of the household of the individual.

## **Prevalence of Diabetes**

Table 4 gives the prevalence of diabetes in population above age 45 years in Kerala estimated from the data available through LASI. Prevalence of diabetes is found to be higher among males than females among all the age groups and similar pattern is found in rural and urban areas also.

10010 111			(p e.	<i>comp</i> ( <i>m</i> )	s s p minere	in at leas	e ie jeare	er 48e m	
	45-49	50-54	55-59	60-64	65-69	70-74	75-79	80-84	85+
					Tota	ıl			
Person	13.5	21.6	29.0	31.3	34.0	41.6	41.6	38.7	27.8
Male	17.3	23.8	27.3	29.1	36.9	40.0	44.3	44.4	34.5
Female	12.2	19.9	30.4	32.9	31.4	43.1	39.3	33.3	24.0
					Rura	al			
Person	13.2	17.9	29.3	32.1	24.9	37.1	41.8	48.9	23.3
Male	19	18.9	23.9	28.8	27.7	33.3	41.9	48.1	28.6
Female	11.4	17.0	33.3	34.2	22.2	40.7	41.7	50.0	20.7
					Urba	n			
Person	13.7	25.4	28.7	30.5	44.0	46.7	41.3	23.3	33.3
Male	15.8	29.7	30.4	29.4	47.3	47.9	46.2	33.3	40.0
Female	13.0	22.5	27.4	31.3	41.2	45.6	36.1	19.0	28.6

Table 4: Prevalence of diabetes (per cent) in population at least 45 years of age in Kerala.

Source: Authors' calculations

## Life Expectancy and Diabetes-Free Life Expectancy

Life expectancy (LE) highlights, on average, the longevity in the population and is the universally used measure of population health. The diabetes-free life expectancy (DFLE), on the other hand, reflects the average number of years, a person is expected to live without diabetes whereas diabetes life expectancy (DLE) reflects the average number of years, a person is expected to live with diabetes. The estimation of DFLE and DLE requires construction of the life table for the total population – population with or without diabetes – and estimates of the prevalence of diabetes by age.

For the estimation of DFLE and DLE, we have first constructed life tables for the total population and for males and females for Kerala and for its rural and urban areas for the year 2018 from the age-specific death rates available from the official Sample Registration System of the country (Government of India, 2020c). The life tables so constructed are given in the appendix table. According to our calculations, the life expectancy at birth in Kerala was around 75 years for the total population and 72 years for males and 78 years for females. Life tables for Kerala have also been prepared by the Registrar General of India based on the data available from the official Sample Registration System. According to the life tables prepared by the Registrar General of India, the life expectancy at birth in Kerala was 70 years for the male-female combined population and around 72 years for males and 78 years for females and 78 years for females during the period 2016-2021 (Government of India, 2022).

Table 5 gives estimates of life expectancy (LE), diabetes free life expectancy (DFLE) and diabetes life expectancy (DLE) in Kerala in the year 2018 at different ages of the life span beginning 45 years of age for total, rural and urban populations separately for males and females. Table 5 suggests that a male aged 45 years in Kerala is expected to live on average, about 30 more years out of which around 21 years will be without diabetes while around 9 years will be with diabetes. In other words, more than 30 per cent of the expected future life of a male aged 45 years in the state is likely to be with diabetes. On the other hand, a female aged 45 years is likely to be without diabetes while about 35 years more, out of which about 25 years is likely to be without diabetes while about 10 years will be with diabetes. This means that more than almost 29 per cent of the future life of a female aged 45 years in the state is likely to be with diabetes.

Age		1	Male				Female	
	LE	DFLE	DLE	Proportion	LE	DFLE	DLE	Proportion of
	(years)	(years)	(Years	of expected	(years)	(years)	(Years	expected
				future life				future life
				likely to be				likely to be
				lived with				lived with
				diabetes				diabetes
				(per cent)				(per cent)
45	29.97	20.89	9.08	30.30	34.95	24.83	10.12	28.96
60	17.23	10.81	6.42	37.25	21.27	13.87	7.40	34.79
70	10.87	6.29	4.59	42.18	13.70	8.65	5.05	36.87
80	5.58	3.28	2.30	41.28	7.35	5.20	2.15	29.24
85+	3.32	2.17	1.15	34.50	4.90	3.72	1.18	24.00
				Rural				
45	30.02	20.92	9.10	30.30	34.83	24.76	10.07	28.92
60	17.41	10.93	6.48	37.20	21.08	13.75	7.33	34.76
70	10.82	6.28	4.54	42.00	13.41	8.47	4.94	36.86
80	6.12	3.62	2.50	40.80	7.35	5.20	2.15	29.30
85+	4.00	2.62	1.38	34.50	4.68	3.55	1.13	24.00
				Urban				
45	29.84	20.81	9.03	30.27	35.05	24.89	10.16	29.00
60	16.98	10.65	6.33	37.29	21.46	13.99	7.47	34.81
70	10.84	6.25	4.59	42.38	14.01	8.84	5.17	36.87
80	5.00	2.90	2.10	41.91	7.37	5.22	2.15	29.14
85+	2.53	1.66	0.87	34.50	5.22	3.97	1.25	24.00

Table 5: Life expectancy, diabetes-free life expectancy (DFLE), and diabetes life expectancy (DLE) in Kerala, based on self-reported diabetes from LASI, 2018

Source: Authors' calculations

Table 5 also shows that there is only a marginal difference in the proportion of expected future life of males and females aged 45 years with diabetes in the rural and in the urban areas of the state. The table also shows that the proportion of expected future life likely to be lived with diabetes is the highest in both males and females who have

reached 70 years of age but is lower in both males and females who are older than 70 years of age. Another observation of table 5 is that the life expectancy at all ages in higher in females as compared to males in the state but the proportion of the expected future life likely to be lived with diabetes is higher for males as compared to females. The relatively higher proportion of the expected future life of a male likely to be lived with diabetes may be one of the reasons for the comparatively lower life expectancy of a male aged 45 years relative to a female aged 45 years in the state.

## Discussion

India has the highest prevalence of diabetes mellitus globally, with Kerala having leaped ahead. Kerala has emerged as the 'Diabetic Capital' of India with the prevalence of diabetes at 19.2 per cent (Sarma, 2019). Any country transitioning from a developing to a developed economy is likely to experience similar trends in non-communicable diseases. The present study found that self-reported diabetes mellitus is associated with increasing age, and it confirms the findings of Tiwari et al (2008), Agrawal (2011) and Sharma et al (2024). The current study observed that females had a slightly higher likelihood of developing diabetes compared to males, though the prevalence was higher for males than for females. The study by Maiti et al (2023) lends credence to this finding. Lifestyle differences may be a significant reason for the differences in the prevalence of this condition between women and men (Wandell, 2014). The prevalence was higher in urban than in rural areas (Kalra, 2024). From the present study, it was found that in Kerala, elderly males lead a healthier life compared to elderly females. The number of years before progressing to diabetes is higher among females up to the age of 45 years only, and later, the pattern changes though the difference in the number of years before being diagnosed with diabetes among males and females isn't statistically significant Sharma et al (2024). Our study highlighted that even though life expectancy is higher for females than males, the proportion of years spent with diabetes is more for males and it is contradictory to the finding that women with diabetes live longer but experience a greater number of years with a disability (Payne, 2023).

## Conclusion

Kerala, a state with one of the best health indicators in India, has a high prevalence of diabetes. The prevalence of self-reported diabetes is higher among males than females. Even though the prevalence rate is higher among males, the age at diagnosis of diabetes is earlier in females than in males. Females have also been found to live longer than males with diabetes. Kerala is at an advanced stage of demographic transition so that there is a rapid growth in the old population in the state. It is, therefore, crucial to promote healthy eating and exercise among the old people of the state as a way of reducing the burden of diabetes. Management of diabetes faces many challenges in Kerala. These include rising prevalence of diabetes, lifestyle alterations, delayed diagnosis, low degree of awareness, and expensive treatment cost. The present analysis shows that a significant proportion of the rapidly increasing old population of the state is likely to be living with diabetes in the

years to come. It is, therefore, important that health policy of the state should prioritise diabetes preventive and management measures like early screening of the old population, diabetes management education, and lifestyle interventions to help reduce the burden of diabetes and extend diabetes free life expectancy in the middle-aged and old population of the state. It is also important that equitable healthcare access is ensured through appropriate resources allocation to support prevention and management of diabetes, especially in rural areas of the state.

### References

- Agrawal S, Shah E (2012) Prevalence and risk factors for self-reported diabetes among adult men and women in India: findings from a national cross-sectional survey. *Public Health Nutrition* 15(6): 1065-1077.
- Alam MZ, Sheoti IH (2024) The burden of diabetes and hypertension on healthy life expectancy in Bangladesh. *Scientific Reports* 14, 7936.
- Andrade F (2009) Estimating diabetes and diabetes-free life expectancy in Mexico and seven major cities in Latin America and the Caribbean. *Revista Panamericana de Salud Pública/Pan American/Journal of Public Health* 26(1): 9–16.
- Anjana RM, Pradeepa R, Deepa M, Datta M, Sudha V, Unnikrishnan R, Nath LM, Das AK, Madhu SV, Rao PV, Shukla DK, Kaur T, Shah B, Ali MK, Mohan V (2011) The Indian Council of Medical Research–India Diabetes (ICMR–INDIAB) study: methodological details. *Journal of Diabetes Science Technology* 5(4):906–14.
- Bardenheier BH, Lin J, Zhuo X, Ali MK, Thompson TJ, Cheng YJ, Gregg EW (2016) Disabilityfree life-years lost among adults aged  $\geq$ 50 years with and without diabetes. *Diabetes Care* 39(7):1222-1229.
- Global Burden of Disease Collaborative Network (2024) *Global Burden of Disease Study 2021. Results.* Seattle, University of Washington, Institute for Health Metrics and Evaluation.
- Government of India (2020a) *National Family Health Survey (NFHS)-5. Kerala*. New Delhi. Ministry of Home Affairs, Office of the Registrar General and Census Commissioner.
- Government of India (2020b) *Compendium of Fact Sheets. Key Indicators. National Family Health Survey (NFHS)-5. Kerala.* New Delhi, Ministry of Health and Family Welfare, International Institute for Population Sciences.
- Government of India (2020c) *Longitudinal Ageing Study in India (LASI) Wave 1, 2017-18, India Report.* New Delhi, Ministry of Health and Family Welfare, International Institute for Population Sciences, Mumbai.
- Government of India (2020d) *Sample Registration System Statistical Report 2018*. New Delhi. Ministry of Home Affairs, Office of the Registrar General and Census Commissioner.

Government of India (2022) *SRS Based Abridged Life Tables 2016-20*. New Delhi. Ministry of Home Affairs, Office of the Registrar General and Census Commissioner.

International Diabetes Federation (2021) Diabetes Atlas 10<sup>th</sup> Edition. www.diabetesatlas.org.

- Kalra S, Anjana RM, Verma M, Pradeepa R, Sharma N, Deepa M, Singh O, Venkatesan U, Elangovan N, Aggarwal S, Kakkar R, Mohan V (2024) Urban-rural differences in the prevalence of diabetes among adults in Haryana, India: The ICMR-INDIAB Study (ICMR-INDIAB-18). Diabetes Therapy 15(7):1597-1613.
- Emerging Risk Factors Collaboration (2023) Life expectancy associated with different ages at diagnosis of type 2 diabetes in high-income countries: 23 million person-years of observation. *The Lancet Diabetes and Endocrinology* 11(10): 731-742.
- Khyati K. Liew BD, Ademi Z, Owen AJ, Afroz A, Magliano DJ, Zomer E (2021) The impact of diabetes on productivity in India. *Diabetes Care* 44 (12): 2714–2722.
- Krishnakumar CS, Navaneetham K, Saito Y (2025) Life expectancy with and without diabetics among elderly in Kerala. In Irudaya S Rajan (Ed) *Handbook of Aging, Health and Public Policy.* Perspectives from Asia. Singapore, Springer.
- Kumar A, Gangwar R, Zargar AA, Kumar R, Sharma A (2024) Prevalence of diabetes in India. Review of IDF Diabetes Atlas 10th Edition. *Current Diabetes Review* 20(1).
- Longitudinal Ageing Study in India (LASI) Wave I, 2017-18, India Report.(2020).
- Luhar S, Kondal D, Jones R, Anjana RM, Patel SA, Kinra S, Clarke L, Ali MK, Prabhakaran D, Kadir MM, Tandon N, Mohan V, Narayan KMV (2021) Lifetime risk of diabetes in metropolitan cities in India. *Diabetologia* 64(3): 521-529.
- Maiti S, Akhtar S, Upadhyay AK, Mohanty SK (2023) Socioeconomic inequality in awareness, treatment, and control of diabetes among adults in India: evidence from National Family Health Survey of India (NFHS), 2019–2021. *Scientific Reports* 13(1):2971.
- Muschik D, Tetzlaff J, Lange K, Epping J, Eberhard S, Geyer S (2017) Change in life expectancy with type 2 diabetes: a study using claims data from lower Saxony, Germany. *Population Health Metrics* 15(1):5.
- Payne CF, Liwin LK, Wade AN, Hule B, Du TJD, Flood D, Manne-Goehler J (2023) Impact of diabetes on longevity and disability-free life expectancy among older South African adults: a prospective longitudinal analysis. *Diabetes Research and Clinical Practice* 197:110577.
- Tiwari RR, Deb PK, Debbarma A, Chaudhuri R, Chakraborti A, Lepcha M, Chakraborti G (2008). Risk factor analysis in self-reported diabetes in a rural Kerala population. *International Journal of Diabetes in Developing Countries* 28 (3).
- Sarma PS, Sadanandan R, Thulaseedharan JV, Soman B, Srinivasan K, Varma RP, Nair MR, Pradeepkumar S, Jeemon P, Thankappan KR, Kutty RV (2019) Prevalence of risk factors of non-communicable diseases in Kerala, India: results of a cross-sectional study. *BMJ Open* 9:e027880.

- Sikdar KC, Wang PP, MacDonald D, Gadag VG (2010), Diabetes and its impact on healthrelated quality of life: a life table analysis. *Quality of Life Research* 19 (6):781-7.
- Sharma P, Dilip TR, Kulkarni A, Mishra US, Shejul Y (2024) Risk of diabetes and expected years in life without diabetes among adults from an urban community in India: findings from a retrospective cohort. *BMC Public Health* 1048.
- Sullivan DF (1971) A single index of mortality and morbidity. *HSMHA Health Rep* 86(4): 347-354.
- Wandell PE, Carlsson AC (2014) Gender differences and time trends in incidence and prevalence of type 2 diabetes in Sweden a model explaining the diabetes epidemic worldwide today. *Diabetes Research and Clinical Practice* 106(3). e90-2.
- World Health Organization (2016) *Global Report on Diabetes*. Geneva, World Health Organization.

DIABETES FREE LIFE EXPECTANCY IN KERALA

Age group	m <sub>x</sub>	$_{n}\mathbf{q}_{x}$	l <sub>x</sub>	<sub>n</sub> d <sub>x</sub>	<sub>n</sub> L <sub>x</sub>	T <sub>x</sub>	e <sub>x</sub>		
			Total Male						
0-4	2.2	0.0109	100000	1094	497265	7240350	72.40		
5-9	0.2	0.0010	98906	99	494283	6743085	68.18		
10-14	0.4	0.0020	98807	197	493542	6248802	63.24		
15-19	0.6	0.0030	98610	295	492310	5755260	58.36		
20-24	0.5	0.0025	98314	245	490958	5262950	53.53		
25-29	1.2	0.0060	98069	587	488878	4771992	48.66		
30-34	0.9	0.0045	97482	438	486317	4283114	43.94		
35-39	1.7	0.0085	97045	821	483169	3796797	39.12		
40-44	3.3	0.0164	96223	1575	477179	3313628	34.44		
45-49	3.1	0.0154	94648	1456	469603	2836449	29.97		
50-54	6.3	0.0310	93193	2890	458738	2366846	25.40		
55-59	11.5	0.0559	90303	5047	438895	1908108	21.13		
60-64	16.8	0.0806	85255	6873	409095	1469213	17.23		
65-69	38.5	0.1756	78383	13764	357503	1060118	13.52		
70-74	46.4	0.2079	64619	13433	289510	702615	10.87		
75-79	73.6	0.3108	51185	15909	216155	413105	8.07		
80-84	122.9	0.4701	35276	16582	134926	196950	5.58		
85+	301.4	1.0000	18694	18694	62024	62024	3.32		
			]	Fotal Fema	le				
0-4	2.0	0.0100	100000	995	497512	7806432	78.06		
5-9	0.4	0.0020	99005	198	494530	7308920	73.82		
10-14	0.1	0.0005	98807	49	493912	6814389	68.97		
15-19	0.4	0.0020	98758	197	493296	6320477	64.00		
20-24	0.6	0.0030	98560	295	492064	5827182	59.12		
25-29	0.4	0.0020	98265	196	490835	5335117	54.29		
30-34	0.7	0.0035	98069	343	489488	4844282	49.40		
35-39	0.5	0.0025	97726	244	488021	4354794	44.56		
40-44	1.5	0.0075	97482	728	485590	3866773	39.67		
45-49	1.9	0.0095	96754	915	481482	3381183	34.95		
50-54	3.2	0.0159	95839	1521	475392	2899701	30.26		
55-59	4.8	0.0237	94318	2237	465997	2424309	25.70		
60-64	10.2	0.0497	92081	4579	448957	1958312	21.27		
65-69	18.7	0.0893	87502	7816	417968	1509355	17.25		
70-74	26.0	0.1221	79686	9727	374111	1091387	13.70		
75-79	47.6	0.2127	69959	14880	312595	717276	10.25		
80-84	83.3	0.3447	55079	18987	227930	404681	7.35		
85+	204.2	1.0000	36093	36093	176752	176752	4.90		

Appendix Table 1: Life tables for Kerala, 2018

Age group	m <sub>x</sub>	<sub>n</sub> q <sub>x</sub>	l <sub>x</sub>	<sub>n</sub> d <sub>x</sub>	<sub>n</sub> L <sub>x</sub>	T <sub>x</sub>	e <sub>x</sub>
		•		Rural Male	e		
0-4	2.2	0.0109	100000	1094	497265	7274039	72.74
5-9	0.3	0.0015	98906	148	494159	6776774	68.52
10-14	0.3	0.0015	98758	148	493419	6282614	63.62
15-19	0.3	0.0015	98610	148	492679	5789195	58.71
20-24	0.4	0.0020	98462	197	491818	5296516	53.79
25-29	1.0	0.0050	98265	490	490101	4804698	48.90
30-34	1.2	0.0060	97775	585	487413	4314598	44.13
35-39	1.7	0.0085	97190	823	483895	3827184	39.38
40-44	2.0	0.0100	96368	959	479441	3343290	34.69
45-49	3.4	0.0169	95409	1608	473023	2863849	30.02
50-54	7.2	0.0354	93800	3317	460709	2390826	25.49
55-59	11.1	0.0540	90483	4886	440201	1930117	21.33
60-64	16.4	0.0788	85597	6743	411129	1489916	17.41
65-69	35.0	0.1609	78855	12689	362550	1078786	13.68
70-74	57.6	0.2517	66165	16657	289184	716237	10.82
75-79	67.7	0.2895	49508	14333	211710	427052	8.63
80-84	113.6	0.4424	35176	15561	136977	215343	6.12
85+	250.3	1.0000	19615	19615	78366	78366	4.00
			I	Rural Fema	le		
0-4	2.1	0.0104	100000	1045	497389	7821550	78.22
5-9	0.2	0.0010	98955	99	494530	7324161	74.01
10-14	0.1	0.0005	98857	49	494159	6829631	69.09
15-19	0.3	0.0015	98807	148	493666	6335472	64.12
20-24	0.3	0.0015	98659	148	492926	5841806	59.21
25-29	0.4	0.0020	98511	197	492064	5348880	54.30
30-34	0.5	0.0025	98314	245	490958	4856817	49.40
35-39	0.6	0.0030	98069	294	489610	4365859	44.52
40-44	1.0	0.0050	97775	488	487656	3876249	39.64
45-49	1.5	0.0075	97287	727	484620	3388592	34.83
50-54	3.1	0.0154	96561	1485	479090	2903972	30.07
55-59	4.9	0.0242	95075	2301	469624	2424882	25.50
60-64	10.3	0.0502	92774	4658	452226	1955259	21.08
65-69	17.8	0.0852	88116	7508	421811	1503032	17.06
70-74	35.6	0.1635	80608	13176	370101	1081222	13.41
75-79	40.3	0.1831	67432	12344	306302	711121	10.55
80-84	77.4	0.3243	55088	17863	230785	404818	7.35
85+	213.9	1.0000	37226	37226	174033	174033	4.68

ANJANA ET AL; IJPD 4(2): 201-215

DIABETES FREE LIFE EXPECTANCY IN KERALA

Age group	m <sub>x</sub>	<sub>n</sub> q <sub>x</sub>	l <sub>x</sub>	<sub>n</sub> d <sub>x</sub>	<sub>n</sub> L <sub>x</sub>	T <sub>x</sub>	e <sub>x</sub>
		-		Urban Mal	e		
0-4	2.1	0.0104	100000	1045	497389	7210504	72.11
5-9	0.0	0.0000	98955	0	494777	6713115	67.84
10-14	0.5	0.0025	98955	247	494160	6218338	62.84
15-19	0.9	0.0045	98708	443	492434	5724178	57.99
20-24	0.5	0.0025	98265	245	490713	5231744	53.24
25-29	1.5	0.0075	98020	732	488268	4741031	48.37
30-34	0.5	0.0025	97287	243	485830	4252763	43.71
35-39	1.6	0.0080	97045	773	483290	3766933	38.82
40-44	4.6	0.0227	96271	2189	475884	3283644	34.11
45-49	2.8	0.0139	94082	1308	467141	2807760	29.84
50-54	5.4	0.0266	92774	2472	457692	2340619	25.23
55-59	11.9	0.0578	90303	5218	438469	1882927	20.85
60-64	17.2	0.0825	85085	7016	407885	1444458	16.98
65-69	42.5	0.1921	78069	14996	352855	1036572	13.28
70-74	35.7	0.1639	63073	10336	289524	683717	10.84
75-79	80.9	0.3365	52737	17743	219326	394192	7.47
80-84	134.5	0.5033	34993	17611	130939	174867	5.00
85+	395.7	1.0000	17382	17382	43928	43928	2.53
			U	rban Fema	ale		
0-4	1.8	0.0090	100000	896	497760	7799401	77.99
5-9	0.6	0.0030	99104	297	494778	7301641	73.68
10-14	0.0	0.0000	98807	0	494036	6806863	68.89
15-19	0.5	0.0025	98807	247	493419	6312827	63.89
20-24	0.9	0.0045	98560	443	491696	5819408	59.04
25-29	0.4	0.0020	98118	196	490100	5327712	54.30
30-34	0.9	0.0045	97922	440	488510	4837613	49.40
35-39	0.4	0.0020	97482	195	486924	4349102	44.61
40-44	1.9	0.0095	97287	920	484138	3862178	39.70
45-49	2.4	0.0119	96368	1150	478964	3378041	35.05
50-54	3.3	0.0164	95218	1558	472195	2899076	30.45
55-59	4.6	0.0227	93660	2130	462975	2426882	25.91
60-64	10.2	0.0497	91530	4552	446271	1963907	21.46
65-69	19.8	0.0943	86978	8205	414379	1517636	17.45
70-74	16.1	0.0774	78773	6096	378628	1103257	14.01
75-79	55.4	0.2433	72678	17683	319181	724629	9.97
80-84	90.5	0.3690	54995	20294	224240	405448	7.37
85+	191.5	1.0000	34701	34701	181207	181207	5.22

Source: Authors' calculations